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(1) LetA = {0, 2, 4, 6, 8, 10}, B = {0, 1, 2, 3, 4, 5, 6}, andC = {4, 5, 6, 7, 8, 9, 10}. Find
(a) A ∩B ∩ C
(b) A ∪B ∪ C
(c) (A ∪B) ∩ C
(d) (A ∩B) ∪ C
(e) (A ∩B)− C

(2) LetA andB be sets. Show thatA ∩ (A ∪B) = A
(a) by showing each side is a subset of the other side.
(b) using the set identities in table 1 on page 89.

(3) LetA be a set. Show thatA = A.

(4) Show that ifA andB are sets, thenA−B = A ∩B.

(5) Draw the Venn diagrams for each of these combinations of the setsA, B, andC.
(a) A ∩ (B ∪ C)
(b) A ∩B ∩ C
(c) (A−B) ∪ (A− C) ∪ (B − C)

(6) Can you conclude thatA = B if A, B, andC are sets such that
(a) A ∪ C = B ∪ C?
(b) A ∩ C = B ∩ C?
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